.11
o iy —
o R @ = —
: u : ® < -
] i D —E < M | s
;0 : S vt o |
MSWMIW — e N 2 _ ==
QN A n S e E | S - ||E
nols S ] O e g |3 T — |2
s <ivp QU — St £ = S - |3
= g m (dp] O = e S ) D g
o g B | pd &S S
) Py = Al Zlala < |15
nh 5 : O RS S alslgl vz
: : ST Al = = ~— ||=
Z S : (®] oo Tl X S |E
=9 “ o B RS e = S
o 38 | SeEE sl g =l E
O §0 Zwmw..lm.EmD LM g
NS g RS S| s |8 — |2
N 2 = SESEOIARZ) S8 ¥ |E = S
N2 < [N S S S ) @ S N S £ a
< S» 4 NIERSIRISEE E
o
=
£
. 2
o wm wm
S e =
< < 4
& |5 5
g | = £ £
= |8 2 S
slgl =5 3 S
<= — <} < =
glE = & 5
= = =
s |3 3 o= |z
RZ S S > += S
= | =l &2 o 0! 2
< < [<P] S Nav] m
S > aQ >Q &
B H o =
Z =) S ! 2
g2 i Z |
$ N
B> »n < o z
= om0 = — =
2 2 @ o | e |12
&) =2 @) >
EL SRS AR E
. 5| ¢ 2 SR
T S INE 2 < |z
AL O | F o) - =
N 3 N o >
b .f.wnww.qm.ﬁ._ S| 3| Ao 2| g
=l 1B < 2
S, s S = Q == =
SEEEEREREEE SRES 2
g
7N / B
/ =
&) =
5 \ g
= \ S —— 600+ — ¥61LE — GLEIE — o E
e / & R
- / < a
! =
Wln / b .Dln
S ! =3 =
g / 2
£ S ! z —— Cl00+ — ¥6L7LS — 18TTUE — 0006 e
ZAIM/ %\ W WWW
072 = - ale
SO N
~y ! = o
S S S
N (o=
& W\\ =
. <T
S / E —— S000+ — ¥6SZLE — 68GTLE — 00708
/ 5
(a8
/ =
/ 3
/
/
u 000, —— %000~ — ¥68°7/S — 868°2L8 — 00°0L
/
/
/
/
/
/
: 0009 —— [¥00- — ¥6I'ELE — 1WT'SLE — 00709
/
/ L - 17159
/
/
/
/
. . . a
. Cee 'Sh 6090 W 7 L —— [I00- — ¥BYELS — LGELE — 0006 5 —
o mm /
Omo . /
SIT P C9CLE Gy a0 W ZA I
TR IS \
> LLELS S 190 Wy 72 / . .
83 ; —— G000~ — BELCLS — YLELE — 000%
S I
1 = /
© e _ I
. YEELE W6 YLD WA 2 |
S
i
W /
Eee owﬁ%&m% ._zmun_ m + —— €700~ — 096°C/§ — £86°CL8 — 00708
=28 - . . . : /
Sxs o L0PLE ¥S 929°0 WA ZA - / S
g a / =)
—_= / al
[a'e
/
. ! —— Q00+ — SIEVLE — TEHE — 0002
pUg : /
&3 LWpLS thl 8190 Wy 72 ,
XY /
T /
¢ /
¥ 19'7/C 118 609°0 WY 7Y ! 000l —— 000+ — C08¥LE — 86L¥L& — 000! mmm
/ 85
/ il
/ xo
b /
S /
BT @ SSLe 99 0030 wn 20 \ — 00100 000 —— GTL0- — LLVSLE — LTSS —b o 21—
oo
T =
C1GLE 'S 16GD Wi 72
—— 100~ — CLI'GLE — 62L'GLE — 00706
€
N
<}
B . . . .
A 00 1450 Wy — 0008 —— 0100~ — 7867/F — I66'%/5 — 00708
+ 0
& 999 VIS39 IN10d /
o
= <
o
w
98'¥LE “69 0LG0 Wit 7y P —— €000~ — 758YLE — SS8'WLE — 00°0L
€ c c
So8 .
S3T & LIS 60 1950 Wy ZA , . .
BT b/ —— 9900~ — [29%/§ — £69%/E — 00709 g
oo
aT =
0S°pLS ‘6Y 1650 Wy 77 ) o
0005 —— 0810+ — [§7%/E — LS0WLS — 00706 5
000y —— 2610+ — [8L°C/C — GBGELS — 00°0%
© g
2 3
2 %
=, Z
< = S
2 —— 8770+ — [£C°C/E — 60L'ELE — 00708 5
=
m o
o
w
—— 800+ — [88°7/E — 608°7LE — 00°0C
297U ‘67 81G0D WA 2
1S
o EE \
Ssw A —— 0800+ — CLVTLE — §6E°TLE — 000!
8s3 D L§°TLS ‘6¥ 80GD W ZA ,
ﬂ p
R‘l\ >
—— 00+ — 8L — IUE — 2 F .
TITLE 6 8610 W 7Z Ele— -11867
mu
N
o -1Lv6Y
//// —— 8610+ — L06°L/E — 6VLILE — 00706
€
—— 0610+ — [G9LLE — [9¥1LE — 00708 o8
wwm
mu. pel
o
w
€ . . . .
= —— QL0+ — LOVLLE — ¥STLLE — 00°0L
% o
52 L =z
3= <
ﬁ/._I_IJ =
= ) L - 509
= o
< = —— 6910+ — [GL'I/C — 686°0L6 — 00709
G6'0LE ‘1S 1GK0 Wi 7 /// o
—— 9pL'0+ — 906°0L8 — 194°0L8 — 0006 5
— W00~ — €190/ — L5908 — 00°0% =2
O«
\ O
Eee
o .
Swne
mﬂn,u b( 0V°0LS ‘9L 6Z¥°0 W ZA . — 6000- — €G620.C — ¢9¢°0L8 — 00°0¢
g
e > g a4 8
. [anl o
. w
: —— 8100~ — 978'69¢ — ¥¥8'69F — 00°0C
E o -90°Gly
(o)) ]
pS 4
& o5
= — 200~ — 960698 — GrE'B9T — 0001 E=
€T695 ‘10 80¥'0 Wy 77 % o =
% =
% s - O
% 5
40\ -
S . . . <t [=2)
= — 1000~ — ¥6LBYS — S6LBYE — 5 S
% z
9G'89¢ ¥/ GBSO W 7 3 3=
83
ot
Il
—— 0£00+ — 142898 — 1¥2'89¢ — 0006 =
0058
L -¢9l8f
CLL9S HT 085°0 W ZA —— 9500+ — 8£8°/9¢ — 78L195 — 00708
ﬂ I MJ
o™ S
00°GL =
w
—— €000+ — S0S°/9¢ — Z0SL9¢ — 00°0L
[87198 ¥L $98°0 Wi 77
// —— 1000~ — 197496 — 797195 — 00709
—— 00+ — 190'/9F — 686998 — 000G & —
/ /N
o<
o
e
o
(&)
=
3
—— €000+ — 108°99¢ — 89£°99¢ — 00°0%
09'99¢ ‘17 1€0 Wy 2y / / .
—— 6200+ — 1G99 — T¥G99¢ — 00°0¢
c S
1S ,Ow
S 7998 1L £€0 WA ZA 2 =
Ty,
i —— 1100~ — 008998 — 11§'99¢ — 00102
81995 117 GIE0 Wy 77 / /
000l —— %000~ — ¥/6'G9¢ — 6/6°S9¢ — 00701
L1595 ‘T8 $0E°0 W 7 y /
0000 —— 1000~ — 979°69 — 1969 —9 3 S
<
823 7669 176 96270 WA ZA
Wil
(o=
05°G9¢ ‘78 8870 Wi 77 L/ / —— [b00+ — YEEGe — 982°G9E — 0006
—— G000+ — $F0G9E — 620°S9¢ — 00708
/ / m
=)
w
/// 000 —— 8100+ — ¢CL¥9¢ — 91L'v9¢ —1 00°0L I —CV'692
€
0009 —— ZL00+ — CEV¥9e — 19498 — 00709 sE
o S
Z 29
m =
2
‘% ©
—— 1100+ — SEIV9E — ZZLH9E — 00706 S
-5
695 ‘95 ¥vZ0 Wy 7 %
1S
: 000y —— 000~ — 9¥8E9 — 9/8'98 — 000F £
3 al—
W 0'g P ‘00VNQ ‘4§70 W |5 L9095 195 Y570 Wi ZA ve — L o
2d "Y3ISndu0d NNyl [ o oo
L 15152
0008 —— GZ00+ — 999°79¢ — 1¥9°C9¢ — 00708
€
> m O‘W
00 2220 wy 79°¢9¢ 9G ¥ZT0 W 77— ' o 3 mm
£ ¥IS3) IN10d . Ta
[a'ey
£ ﬂ —— 0100~ — /65598 — (0998 —] 000¢
S le . 3
3 ,W_ o A -0v91¢
o a ° | — ool e Je
T3 = < E=
£ ¢ & 9G°79¢ ‘8L 1170 WA 2 / #vw = &=
SE5 = | o 000 —— 8700+ — ¥PGEIE — 90G'E9S — 000! 7602
g9 PGE9¢ 106 L0700 WA ZA  —— \ =
n o / Wv c
a > . ‘ . o S &
Pre9s ‘97 §000 WH 72— & 89
/ = ~ sS=
— & 0000 —— 9200~ — 69E°C9 — 96£°C9C — 5 S by
w
g\
W .
. s\ L 656l
5, <
I e /
+ ORGERT —— 000~ — 671098 — £61°€9¢ — 00706
0830 ¥1S3) IN10d
E EE
= 86°795 ‘61 7810 Wi 2
A= £6'795 ‘76 6L1°0 WA ZA 0008 — —— 000~ — ¥§679¢ — 856795 — 00708
! 06295 ‘69 LL1°0 Wi 77 /
o S
o
w
/ 000, —— 6600~ — 66/°79¢ — 868795 — 00°0L
0009 —— ¥/00- — 699795 — £¥L 798 — 00709
1S
=
— &
c = 28
< 3 <~ P S =]
R = —— 200 — 6£G79¢ — L1G798 — 0006 £ 5
[Te)
2 2
+ o an
<2 =
. (a8
= (=]
==
a -
. —— €000+ — B0Y'Z98 — 96798 — 00°0%
E 2
g 3
o
o
=
=
—— 0l00+ — BLC798 — 697°79¢ — 00°0§
o
<
3
1S < c
808 91°79¢ ‘GL 0710 W 7y /
85 61798 100 0Z1°0 WA ZA —— 8100+ — 871796 — I£1°79¢ — 00°0Z
0 y1'79¢ ‘ST 611°0 Wi 77
aT =
—— 800+ — 68619¢ — 206195 — 0070}
/// —  -10801
/J/ 0000 —— 110+ — 608719 — 8G9'198 —¢ = S
0006 —— 2600+ — 699°19¢ — LI¥'198 — 00706
B
™~
o
0008 —— 990+ — 60S'19¢ — Zv8095 — 00708 mm
T
W 09 P, 00VNQ :9/0°0 UM o196 98 S/00 W 7 L oy = =
Id “31SNd¥0d INGnyL =
(YNSYOON) \ : — 000, 000, —— 1LZ0+ — 266°19¢ — 190°19¢ — 00°0L
\/8 £90°0° Wy ‘0z3rs / \ ,,
LT19 8 $900 WY 74— \
ﬂ T ) \
— \ \ =
“ ! - X 0009 —— 2670+ — €90°19¢ — 118095 — 00709
, z
(&}
/ vﬁA\\ﬂv
68095 8 £50°0 Wi 77 \ S
\ =
\ S o L~ -0516
. 3 0005 —— 780+ — 20L°09¢ — 02§°095 — 00705 &
\ ~
\ o
\ e £
\ S g
\ 2 e
\ = . . . . ©
- - —— 1610+ — 7787098 — ZE1098 — 00°0%
O\ m
TU/ D .
Z\ z - 1h'SE
ﬂ.&/ 3 £
2 - S5
66'658 ‘LZ 100 WA 7 2 ~ . . . . = Seq
\ = —— 8510+ — bY6ESE — 981658 — 0008 | 2 %
\ = =3 =)
c \ N = - 0592
o EE \ \ :1.H.vv
208 e e 0 \ z
S 99'6G¢ ‘76 2200 W ZA / \ S
n \ " & — W00+ — CS9BSE — Z19°6SE — 000C o5
o \ o Sis
\ W._ U=
\ (=)
= YGBGC tLL £100 WA 77 ,, E
2 , = _
5 - _ e 000 —— IS0+ — G6Y6SE — GrEess — 000} -GL'6
k5% B | .
g W , 4 58
. 3 , 0050 o a2
e 3 _ s it
— ~_ " = €
L ‘an: oS
m & % 98°6G¢ ‘00 0000 WA NZ VERL 00110 - 0000 —— 0000F — GIF'BSE — GOT6GE —o = £ -010
N o pm
O o .. . , .. e . . o g .
— g 3 R =T o = 2 = & 2 = = 3
s . = z : : 2 Eze £
) J — 4 N
2 = g N g z S £ ®y ¢
SIS S = g s 2 =
> @] > o = 1 _.Ah_n._ 72}
= S ” S
— N = =
3z :
S o
A &




